Inverse operations

o Using the inverse (or reverse) we can find the input for any
machine, by using the output.

input ——<— LIVOESE 4 e output
operation
Operation Inverse operation
+7 =7
-8 +8
x4 =4
+6 x6

e Example: Find the input.

? > +9 -2

Solution:  Change arrows direction and use the inverse operation

?—~<{-e}<2

? = 11since 20 — 9 = 11

Excrcise 3

Find the input to these systems

L @b x4 -[EEu
R
A PR W, N
1. 4> 3P 3 12. ¢ >{-712}> 27
3. 60 14 72
5. 7 >{<4]>8 16, V-{<6}—7
17. mm 54 18, 7 56
. ©-{<71p7 0. d-{-3]2
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Excrcise 4

Find the input to these machines

L f>{+8|> +6|> 18 2 @-{+2b{+s5} 1
V-sb{-87 4 ¢>|-9p>{-3]>s
N T N E ST
eSS 3 1 S R PR ey Ny S
I 1 BT SRR gy W N
1. M- +3pb{x2}— 16 122 A->+3{ xa}>-m2
13. g;g_)-|+4|->-|+5]+3 4 > +7 P 92
5. 2w 16 @-{—wb{ral o
18. § - -8 x7 > 21
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